101.

102.

103.

PHYSICS

Soft iron is preferred as core of
transformer in the form of sheets due
to its

A) High retentivity, low coercivity and
low hysteresis loss

B) High retentivity, high coercivity
and low hysteresis loss

C) Low retentivity, low coercivity and
high hysteresis loss

D) Low retentivity, high coercivity and
high hysteresis loss

Rate of change of torque t with
deflection 8 is maximum for magnet
suspended freely in a uniform magnetic
field of induction B when

A) 0 = 90°
B) 6 = 60°
C) 8=45°
D) 6=0°

In LCR circuit resonant frequency is
600Hz and half power points are at
650 and 550Hz. The quality factor is

NP A
B) )

C) 6
D) 3

difas fagm

101. W& % €9 § TFAHHT & DR & ¢ 76 &R
! 0T <t T 8, T6h FRU

A) 353 e, T radigswar @ =
feeieda =i

B) 3= a0, I=0 adigswal a f=
feefedta =il

C) fr=1 aratiem, = sadigesar 3 3=9
feeiedia v

D) fr=1 rater, I=9 IEdighal 9 3=
feicdia =i

102. 37T B ¥ T G0 gaehid &5 3§ @&ad ©icsh

U e % fore fydgur o 3wy sl o4
gRad i T ARIHad aa gl § o

A) 0 = 90°
B) 0 = 60°
C) 0 =45°
D) 8=0°

103. LCR wffe & e aimgfi 600Hz & 3K
ard wifes foig 650 3K 550Hz W 8] Torerm

T &

A ¥
B) Y

C) 6
D) 3
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104. Two identical capacitors have the

105.

same capacitance C. One of them is
charged to potential V, and the other
to V,. The negative ends of capacitors
are connected together. When the
positive.ends are also connected, the
decrease in energy of the combine
system is

Aﬂ%ﬁ-@)
B) %(‘“ﬁz +Vg)
C) %(Vrvzla
D) 7 (Vy+ Vo)

The voltage V and current | graphs fora
conductor at two different temperatures
T, and T, are shown in the figure. The
relation between T, & T, is

A

T,
Vv T,

B) Ty> Ta
B) T,<T,
C) Ty=T,

D) Ty==

i

104, 3 -4 suftet ey C 81599 2
2V, shoag ) v, o AR e s
g1 witEl & H/eHE Big TH TR 4 IS 2
w5 e o it iy it £
iR aal S Rzt

A) 2 (VYD)
B) 7 (Vf +V3)
0) ZVi-Vy)
D) %(W +Vp)?

105. o 7 T gt o & ferfsm amwmmi T, 31
T, W aleest V 3K forga | 1 gaie g €
T, 3R T, FHaG 3

A

VvV T,
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106. The potential at a point x (measured in
um) due to some charges situated on the

2 2 20
x-axisisgivenby V(x) = Z 8

electric field £ at x =4 m is given by

voit. The

A) %5 Vim &in +ve x direction

B) 1% %m & in —ve x direction

C) 1% %m & in +ve x direction

D) % %lm & in —ve x direction

107. Two wires of equal diameters, of
resistivities p; and p, and lengths
Iy and 1, respectively are joined in
series. The equivalent resistivity of the
combination is

A Pili+pals B) Pl +pal4

|1+|2 ]1—'2

C) p1|2+p2|1 D) p1l1_p2|2
|1+|2 I1_I2

108. The magnetic field due to current
carrying circular coil loop of radius
6 cm at a point on axis at a distance
of 8 cm from the center is 54uT. What
is the value at center of loop ?

A) 75 uT B) 125 uT
C) 150 uT D) 250 uT
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106. fog X T x— 395 WFS AR T T & F
20 o

(x* -4)

Bx=4mREga &7 E R

v (pm o w1 @) V(x) =

A) % %m AR gaTenes x fewm H
B) 1% %m 3 HvmTenss x fasm |

c) Y% %m 3fit g x R )
D) % %m 3R wumTenss x e A

107. T9F A9 913 3 AR, Reeht s p,
3 p,, 3R TS s: |y 3R U, 2, e |
SR M ¥ | e Y geareh) wfdeear §

l{+pol |, +pol
a) Pil1tPalz B)Pw P2l
[y +15 P P

l, +pol pili—p2l
|1+|2 I'I“IE

108. %3 & 8 &t F g W o1& W fog W

6 et Fioer 3 garhR Foeh wia e faegd
2, 1 e &% 54uT Tl B F g W
&1 | g 7

A) 75 uT B) 125 uT
D) 250 uT
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C) 150 uT

gcollegedunias

T



109. The fastest mode of transfer of heat is
A) Conduction
C) Radiation

B) Convection

D) Both A & B

110. The ratio of displacement to amplitude,
when kinetic energy of a body executing
SHM is thrice the potential energy

A)-g- B) ¥

0))4 D)%

111. The weight of a body at the center of

earth is
A) 9.8 ms— B) 0
C) 4.9 ms™2 D) 10ms™2

112. The ratio of lateral strain to the
longitudinal strain is called

A) Young's modulus of elasticity
B) Bulk modulus of elasticity

C) Poisson’s ratio

D) Elastic limit

113. Sl Unit of co-efficient of viscosity is
A) Nsm™2 B) Ns~1m?
C) Nsm™3 D) Ns—2m

114, 30°C temperature in Fahrenheit scale
IS

A) 68°F
C) 100°F

B) 86°F
D) 48.5°F

109. FoHT & TIAFTGN T digad o1 &
B) da&
D) A 3R B =t

A) =TeH
C) fafeo

110. V& Gt G4 i 1 FrsgeT $@ aeh
g I Tt St gaeht Wit sl A dF
ToN B T e & 31 T 3igurd

A 5 B) %3
C) % D) %
111, geafi & hg W T a5 1 qRE

A) 9.8 .82
C) 4.9 1. a2

B) 0
D) 10+t.a-2

112, T faama w1 o fame & squm
FHTATT &
A) ITITELT T 7 HI9TH
B) WeHTeIdT T Seeh HIYTH
C) 9isH AuT
D) Weareey Him
113. YT ToTeh i S| 31 &
A) Nsm~2 B) Ns~'m?
C) Nsm™3 D) Ns2m

114, Sigge 99 | 30°C aNaH 8

A) 68°F B) 86°F
C) 100°F D) 48.5°F
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115. A Cylindrical rod is reformed to half
of its original length, keeping volume
constant. If its resistance before this
change were R then the resistance

after reformation of rod will be

A) R B) B,

&) =7 D) %

116. A proton, a deuteron and an a— particle
with same kinetic energy enter
perpendicularly in a uniform magnetic
field, then the radii of their circular

paths is
A} 1:1:42 B) J2:1:1
C) 1:42 :1 D)1:2:2

117. A galvanometer coil has a resistance
of 15Q2 and the meter shows full scale
deflection for a current of 4 mA. To
convert the meter into a voltmeter of
range O to 18V, the required resistance
is

A) 58850 in series
B) 448502 in series
C) 58852 in paraliel
D) 4485Q in parallel

118. Two identical magnetic dipoles of
magnetic moment 2 Am? are placed
at a separation of 2 m with their axes
perpendicular to each other in air, The
resultant magnetic field at a mid point

between the dipoles is
A) 45x10°T B) 2J5x10°T
C) 4/5x107°T D) 2J5x107T

Page No.

115. 3maa F Faa T@d gu o Soaen o
SAEITS T ITHT A U A YA T S 8
fe afitad & qd $8e Sy R o1 @t gReda
% YT $He! Sy g

A) R B) B
5 35 D) %%
116. T MM, Tah YR 3R TF o— 30 G G

Tahig a7 1 g e St F WY Sead
YA G B T 39 JurehR 99 i B #

B) V2 :1:1
D)1:2: 2

A)1:1: 2
0) 132 51

117. T freaaier Soelt o1 wfey 15Q & 3i
izt 4 mA i faga & forg quf 3o
faatgur qwifar ) e =t 0 @ 18V vt F
FiceHiet # age & fore Fifesa wfiy 2

A) 5885Q S@er H|
B) 44850 s@e 1|
C) 5885Q auHIX H|
D) 44850 HHia 7|

118. Yoy amui 2 Am? & < @& A goh
et AP RmErR@E &
A& Y A TH-gW & dead ¢l fayd Fne
forg W it} geehr & &
A) 4/5x10°T B) 2y5x10°T
C) 45x107°T D) 2J5x107T

4JEECE

gcollegeduniaa

el



| % If K, and K, are maximum kinetic
energies of photoelectrons emitted
when lights of wavelength A, and A,
respectively incident on a metallic

surface if A, = 3A,, then

K K
A) Ky >|[=2 B) K, < |2
%) @ <(3)

C) K, = 3K, D) K, = 3K,

120. If an electron in hydrogen atom
is revolving in a circular track of
radius 5.3x10"1'm with a velocity of
2.2x108ms~1 around the proton then
the frequency of electron moving
around the proton is

A) 6.6x1012Hz
B) 3.3x10'5Hz
C) 3.3x10'2Hz
D) 6.6x1015Hz

121. Tritium with a half life of 12.5 years
undergoing beta decay what fraction
of a sample of pure tritium will remain
undecayed after 25 years ?7

A) One half

B) One fourth
C) One third
D) Three fourth

119, ¥ U Hfcaeh T 9 HA: Ay 3R A, @O
QeafelT oh SRS SATOferer ST & A SR Jeafsta
wrRIgeraeE i rfteman nfew Wit K, 3k
Ky BlaR A, =3A, 8, @

K K
K,>|—-2 B) K -i)
A) 1}[3] ) 1:(3

120. R Tk SR SRS WA & 5,310~ 11 A
# fBewr & gaeR 99 § WA F I/ AR

2.2x108ms~! 1 ia & ¥m T B1 @t WEW
& IR 3R g7 ® T I g ®

A) 6.6x1012Hz
B) 3.3x10'5Hz
C) 3.3x10'%Hz

D) 6.6x1019Hz

121. 12.5 au] Y e g e gEiean # e
faeT & wr 21 25 391 % fwes & ywW

% Zsfeam & U T o TR W Sre
waTe 7

A) 3T

B) T g

C) & frerd

D) i g
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122.

123.

124.

125.

A convex mirror of focal length f forms
an image whichis % times the object.

The distance of the object from the

mirror is
A) (n—1)f B) (";1)1‘
C) (”:1)f D) (n+1)f

A ray incident at a point at an angie of
incidence of 60° enters a glass sphere
of refractive index /3 and is reflected
and refracted at the farther surface of
the sphere. The angle between the
reflected and refracted rays at this
surface is

A) 50°
C) 90°

B) 60°
D) 40°

A double slit experiment is immersed
in a liquid of refractive index 1.33.
Separation between the slits is 1Tmm
and distance between slit and screen
is 1.33m. If slits are illuminated by a
parallel beam of light whose wavelength
is 6300A°, then fringe width will be

A) 6.3 mm

B) 63 mm

C) 0.63 mm

D) None of these

Which of the following are not
electromagnetic waves ?

A) Cosmic rays
B) Gamma-rays
C) p-rays
D) X-rays

122.

123.

124.

U Iaiel 4T Foreeh Biwd gl f 3, T Siafea

ARG H Y, T AT R
U

B) (";“ ¢

f D) (n+ 1)1

A) (n—1)f

(n+1)

C)

ue o 3 e v 1 O fog W smafo
60° 2t & 3R /3 AT & T i &
Tivey 3 ST e T Bt & T et % g
g3 W rvaie Srd 81 79 T8 W qatda 3R
agafda il & offe = o e

A) 50° B) 60°
C) 90° D) 40°

w fafg i w 1.33 SA9adAIE & 59 A

gan &) fost & s gl 1 fidt ol o 3R
qﬁé\nﬁafﬁaﬂmsn‘t 21 af foxit =t
ST ¥ T G RRT 5 g SR
fap st @ Rraeht w1 2edar 6300A° 3
gt <fters gt

A) 6.3 fdt

B) 63 fordt

C) 0.63 fift

D) 38 @ IS T

125. Fefifes I Sn-dt g P aei a8 ?

A) ifeaeh feol
B) - e |
C) p-fertot
D) X-fetot
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126. Dimensional formula of the physical

127.

128.

129.

quantity resistance is
A) [ML2T-3A-2]
B) [ML-1T3A-]
C) [ML2T-2K-1]
D) [ML—2T-3A2]

What does the speedometer of a
vehicle read/measure

A) Average speed
B) Average velocity
C) Instanteneous speed

D) Instanteneous velocity

The magnitude of x and y components
of A are 7 and 6 respectively. Also the
magnitudes of x and y components
of A+ B are 11 and 9 respectively.
Calculate the magnitude of vector B

A) 10 B) 5
C) 6 D) 3

A bob of pendulum of mass 50 g is
suspended by a string with the roof of an
elevator. If the lift is falling with a uniform
acceleration of 5ms2, the tension in the
string is (g = 10 ms™2)
A) 0.5N
C) 025N

B) 0.225 N
D) 0.025 N

126. viifores mran wiery =1 fafardia o3 &

“A) [ML2T-3A2)
B) [ML™1T3A-Y
C) [ML2T-2K-"]
D) [ML™2T-3A2)

127. ek S8 o TidATqe frgeh A9 Feat g ¢

A) 3ngd i
B) ft&a dan
C) arehifeteh i
D) TchifeT® dam

128. A & x 3y et & giewmr oft w7 39K

129,

6 8l. A+ B & x 3R y g2ai & uitamor ot
#a3: 11 3R 9 21, aflew B =1 yfom 3=

H|
A) 10 B) 5

C) 6 D) 3
UE S $1 50 TH WK I Med T
Ied9e ) Td 9 Th A § weT ¢l 3
s 0 5.8 2 & Tur @ 8 A9

MEedand e aa 8 ?

(g= 101872
A) 0.5N B) 0.225 N
C) 0.25N D) 0.025 N
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130.

131.

132.

133.

D T e i T—

Induction furnace makes use of
A) Self induction

B) Mutual induction

C) Eddy currents

D) None of these

A 30pF capacitor is connected to a
150V, 60Hz AC supply the rms value
of current in the circuit is

A) 17A
B) 1.7A
C) 1.7mA

D) 1.7pA

A transformer has 100 turns in the
primary coil and carries 8A current.
If input power is 1kW, the number of
tumns in secondary coil to have 500V
of output will be

A) 100
B) 200
C) 400
D) 300

The waves used by artificial satellite
for communication is

130. 3™ W 1 AP S E

A) T

B) =g
C) &t umrd

D) ¥ & s e

131. & 30pF 4rita @& 150V, 60Hz AC

g & o1 §) wlike § faga urt & s
SIEE

A) 17A
B) 1.7A
C) 1.7mA
D) 1.7pA

132, @ uftenfaa & wrenfies Feeh § 100 g &
3t 8A forea mw 81 R stra wifdr 1kw @
at 500V frfa wrea w0 & fre fderss et
% gaEt i e gt

A) 100
B) 200
C) 400

D) 300

133. =R % fore FHfm Iu g vgw o 8

A) g&m 0
A) Microwaves .
B) 3ot adi
B) IR waves
C) Radio waves C) fsat ot
D) X-rays D) X-fertet
Page No. 33 4JEECE
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134. s fielt om eam # 2.68x108 gwmy] &

134. 1 mg radium has 2.68x10° atoms.

Its half life is 1620 years. How many 3aeht o1ef 31g 1620 a9 21 3240 =91 ¥ &
radium atoms will disintegrate from egw & 1 el o @ foras Usam ang
1mg of pure radium in 3240 years ? fufeaem ?

A) 2.01x109 A) 2.01x10°

B) 2.01x108 B) 2.01x108

C) 1.01x10° C) 1.01x10°

D) 1.01x108 D) 1.01x108

135. What will be input of A and B for the 135. @waﬁ&‘iﬁr (A+B)-(A-B)=1Ffw A
Boolean expression ? i B 3 7T S AT BN 7
(A+B)-(A-B)=1

A) (0, 0) B) (0, 1)
A) (0, 0) B) (0, 1)
C) (1,0) D) (1,1) C) (1,0) D) (1, 1)

136. The current gain for a common emitter | 136. T BT Iesieh Yaweh o forg, ferega i
amplifier is 69. If the emitter current is 69 &| ARt Ieasis foe@ 7mA B @ UR
7mA, the base current is | fga

A) 0.1mA B) 1TmA A) 0.1mA B) 1mA
C) 0.2mA D) 2mA C) 0.2mA D) 2mA

137. The work done in placing a charge of | 137. 100uF & wftar aret & HoiHG W Th
8x10~18C on a condenser of capacity 8x10~18C = 2737 W& & % &
e A) 16x10732J

A) 16x10732
B) 3.1x10726
B) 3.1x10726
-10
C) 4x10-10 Craeod
D) 32x10732 D) 32x10732
B Page No.:34 4JEECE
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138. The angular speed of seconds hand
of the clock is

A) Figoo™@ds”
B) %0 rads™
C) %O rads™

=
D) %0 rad s

139. A particle moves from position
r,=(3i+2j-6k)m to position
r,=(14i+13j+9k)munder the
action of a force (4i+]j~3k)N then
the work done is
A) 46 J
C) 86 J

B) 56 J
D) 10J

140. A light and heavy body have equal
momentum, which one has greater
kinetic energy ?

A) A light body
B) A heavy body
C) Both have equal kinetic energies

D) Data given is incomplete

141. A flywheel of mass 50 kg is in the
form of a disc of diameter 0.5 m. The
kinetic energy when it makes 120
revolutions per minute about its axis

is (1 = ¥2MR?)
A) 50 2 B) 12.5 2
C) 25 n2 D) 100 =2

138. Ut I AFS Frelt g§ it Avfig nfa @
A) %800 rads™
B) %0 rads™’
C) %0 rads™

-4
D) %D rads

139, TH T TH ot (41 +)—-3K)N &
fata ffa r, = (31+2)-6k) H.&
r, =(141+13]+9k) . 7 S R

foran T v R
A) 46 J B) 56 J
C) 86 J D) 10J

140. & goht IR Wil I5g 1 AT TH 2,
ferareht it it a1fires Bt 7

A) Eoehl ]

B) Wit agg

C) &t Y nifest w1l gwm anft
D) few e i o 4 &1

141. @ 50 fom =1 9@t 0.5 W =49 i @
avad FEIH 8| g gl F =i i wfa e

120 97 Q0f & R gaht 7iferst it femarft
2t ? (1 = 2MR?2)

A) 50 =2 B) 12.5 n2

C) 25 n? D) 100 =2
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A

% The phenomenon of sound propagation
In air is
A) Isothermal process
B) Adiabatic process

C) Isobaric process
D) Isochoric process

143. The number of electrons present in
—2C of charge is

A) 1.25x1019
B) 1.25x1018
C) 1.6x1019
D) 1.6x1018

144.  The electric field at a point is
A) Always continuous

B) Continuous if there is no charge
at that point

C) Discontinuous if there is a charge
at that point

D) Both B and C are correct

145. In a region of constant potential
A) The electric field is uniform
B) The electric field is infinity

C) There canbe no charge inside the
region

D) None of the above

146. Dielectric constant for a metal is
B) infinite
D) ten

A) zero
C) one

D  Page No_ 36

| 142, a3 waft ¥ ) ofge

A) |rardiT gfgha

B) ¥ ufgmn

C) angrEiy wfgar

D) @9 smafres ufima

143, aaﬁma;—zcﬁ‘ﬂl@lasﬁﬁgﬁﬁﬁw%

A) 1.25x1019
B) 1.25x1018
C) 1.6x1019
D) 1.6x1018

144. @& foig v foegm 87 2
A) w3 frat
B) e fig w ¥ amdw 7 2 4 e
C) 3t foig vt v andw & A Pk 7
D) 31 B 3tk C wer 8

145, 9o fovg & o & o
A) T & smm R
B) forwga &= ama 2
C) & % iR ¥ aRard 7eF & e
D) Ivdw # & 3 7

146. TF o1 % o Iregforss fodpis &

A) 3= B) *a

C) = D) =4
4JEECE
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147. Two lenses of power +10D and -5D
are placed in contact. Where should an
object be held from the lens, so as to
obtain a virtual image of magnification

27
A) 5 cm B) -5cm
C) 10cm D) <10 cm

148. What is the refractive index of material
of a plano convex lens if the radius of
curvature of the convex surface is5cm

and focal length of the lens is 20 cm.

AN % B) %
) % D) 43

149. Inadouble slit experiment the distance
between slits is increased 10 times,
whereas their distance from screen is

halved then the fringe width
A) becomes %0

B) becomes Yoq
C) remains same

D) becomes %o

150. The angle between pass axis of
polarizer and analyser is 45°, The
percentage of polarised light passing
through analyser is

A) 75%
C) 50%

B) 25%
D) 100%

147. +10D 3 -5D vifeq & a1 &9 g9 § &Q
4 €1 T I i o A et gt wo
STC arfes 2 rae= aren smyret wfafes s
& Tl

A) 5 gt
C) 10 g+t

B) -5 g
D) —10 &

148. T GHAaA-39¢ oid % YGTY 1 Ya1e
B afg 3ver g8 i sk B 5 A afk
o i By gl 20 At &

a) 8 B) %
c) % D) %

149. = fgfog wam 4, o & dm f g 10 on
(g1 &1 I ®, Sterfeh W A g{f et U g

T A gt =es
A) Yoo e R
B) Yoo B = &1
C) uuri et &l

D) Yo St

150. yelieal (Tiegsr) 7R faveives & R e &

draH H45° 3| faveivs ¥ R @ Yt
SeRTYT ST YiovTd 8

A) 75%
C) 50%

B) 25%
D) 100%

-
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